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1. Look at the food chain below and draw the arrows. Write below f they are a
producer, predator or prey.
Grass Caterpillar Sparrow Hawk

.

producer prey and predator Drcd:lor

What do the arrows shows____The arrows show what is eaten by what.

Explain what is happening in the food chain above;
“The grass is eaten by the caterpllar, the caterpillar s caten by the
Sparrow and the sparrow s eaten by the hawk.

2. greenplants mouse wild cat lion

Where do the green plants get their energy from as a producer? ___The Sun.

What in the food chain above is the secondary consumer? Why.
The wild cat is the secondary consumer as it is the second animal to cat something else. The
mouse is the primary consumer as it i the firs thing to eat something else because the plant
‘makes its own food.

3. Order and draw a snake, grasshopper. plant and frog below into a food chain. Label
them producer or consumers;

plant | s | rasShOPPEr s | fr0E — | Snake

producer consumer consumer consumer

What would happen in the faod chain if there were suddenly less grasshoppers?
If there were less grasshoppers there would be less frogs as the frogs would have less food.
‘With less frogs you may have less snakes as they as well would
‘have less food. There may be more plants as less of them are eaten by grasshoppers.





